
Block Adventurer Mixed Calculation Maths Mosaic
Solve the multiplication problem to reveal a hidden picture. Each answer has a special colour:

8 = yellow 15 = green 24 = grey 60 = brown

36 = skin colour All other answers = white

1 × 2 8 + 10 2 ÷ 2 10 + 9 1
2  of 16

 
2 × 4 12 ÷ 2 100 - 30 11 × 2 5 × 1 

4 ÷ 2 10 - 10 12 ÷ 2 6 + 2  40 - 4 Double 
18  8 ÷ 2 75 + 20 16 + 19 1

2  of 46
 

9 ÷ 3 25 × 1 2 × 11 10 - 2 6 × 6 ? ÷ 9 = 4 Double 
17 50 - 24 49 - 23 4 × 12 

19 - 5 6 × 2 30 - 22 7 × 5 3 × 5 30 - 15 10 × 7 99 - 54 17 + 18 53 + 17 

34 + 3 10 ÷ 5 12 + 11 35 + 10 1
2  of 30

 
20 - 5 37 - 22 8 + 6 12 × 4 40 - 35 

Double 5 12 × 4 7 × 5 1
2  of 70 7 + 8 30 ÷ 2 8 × 10 9 × 4 20 - 2 56 - 44 

16 + 5 36 ÷ 2 30 + 5 10 × 7 6 × 10 100 - 40 19 + 16 1
2  of 32

 
22 + 13 1

2  of 24
 

1
2  of 42

 
70 + 12 5 × 11 ½ of 50 Double 

30 5 × 9 50 + 10 2 × 3 26 ÷ 2 70 ÷ 10 

Double 
16 9 - 5 13 + 12 12 × ? = 

60
1
2  of 48 27 + 15 10 × 11 6 × 4 2 × 9 60 - 20 

(of your choice)
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Block Adventurer Mixed Calculation Maths Mosaic Answers
Solve the calculations to reveal a hidden picture. Each answer has a special colour:

8 = yellow 15 = green 24 = grey 60 = brown

36 = skin colour All other answers = white

1 × 2 8 + 10 2 ÷ 2 10 + 9 1
2  of 16

 
2 × 4 12 ÷ 2 100 - 30 11 × 2 5 × 1 

4 ÷ 2 10 - 10 12 ÷ 2 6 + 2  40 - 4 * Double 
18  * 8 ÷ 2 75 + 20 16 + 19 1

2  of 46
 

9 ÷ 3 25 × 1 2 × 11 10 - 2 6 × 6 * ? ÷ 9 = 
4 *

Double 
17 50 - 24 49 - 23 4 × 12 

19 - 5 6 × 2 30 - 22 7 × 5 3 × 5 30 - 15 10 × 7 99 - 54 17 + 18 53 + 17 

34 + 3 10 ÷ 5 12 + 11 35 + 10 1
2  of 30

 
20 - 5 37 - 22 8 + 6 12 × 4 40 - 35 

Double 5 12 × 4 7 × 5 1
2  of 70 7 + 8 30 ÷ 2 8 × 10 9 × 4 * 20 - 2 56 - 44 

16 + 5 36 ÷ 2 30 + 5 10 × 7 6 × 10 100 - 40 19 + 16 1
2  of 32

 
22 + 13 1

2  of 24
 

1
2  of 42

 
70 + 12 5 × 11 ½ of 50 Double 

30 5 × 9 50 + 10 2 × 3 26 ÷ 2 70 ÷ 10 

Double 
16 9 - 5 13 + 12 12 × ? = 

60
1
2  of 48 27 + 15 10 × 11 6 × 4 2 × 9 60 - 20 

(of your choice)

* Choice of skin tone will vary.
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Block Adventurer Mixed Calculation Maths Mosaic
Solve the calculations to reveal a hidden picture. Each answer has a special colour:

24 = purple 36 = skin colour 50 = brown 60 = blue

All other answers = white

34 + 3 10 ÷ 5 12 + 11 35 + 10 10 × 5 ½ of 100 2 × 8 8 ÷ 2 75 + 20 16 + 19 

Double 5 12 × 4 7 × 5 1
2  of 70

  
6 × 6 40 - 4 Double 

25 
Double 

17 50 - 24 49 - 23 

16 + 5 36 ÷ 2 30 + 5 10 × 7 Double 
18 48 - 12 76 - 26 10 × 7 99 - 54 17 + 18 

Double 
19  

1
2  of 24

  
1
3  of 30 90 ÷ 10  10 × 6  50 + 10 2 × 9 34 + 3 10 ÷ 5 12 + 11 

17 + 53  54 - 19  29 + 7 Double 
30 120 ÷ 2 100 - 40 4 × 2 Double 5 12 × 4 7 × 5 

12 ÷ 2 100 - 30 11 × 2 5 × 1 88 - 28 34 + 26 10 × 7 16 + 5 36 ÷ 2 30 + 5 

8 ÷ 2 75 + 20 16 + 19 1
2  of 46

 
Double 

12 30 - 6 100 ÷ 10  65 - 20  35 + 24  1
2  of 80

8 × 2 10 × 4 2 × 2 6 × 4 8 × 10 50 - 26 1
2  of 42

 
70 + 12 5 × 11 ½ of 50 

10 × 8 6 × 2 1
2  of 48 2 × 6 9 × 5 58 - 34 Double 

16 9 - 5 13 + 12 12 × ? =  
60

(of your choice)

visit twinkl.com



Block Adventurer Mixed Calculation Maths Mosaic Answers
Solve the calculations to reveal a hidden picture. Each answer has a special colour:

24 = purple 36 = skin colour 50 = brown 60 = blue

All other answers = white

34 + 3 10 ÷ 5 12 + 11 35 + 10 10 × 5 ½ of 100 2 × 8 8 ÷ 2 75 + 20 16 + 19 

Double 5 12 × 4 7 × 5 1
2  of 70

  
6 × 6 * 40 - 4 * Double 

25 
Double 

17 50 - 24 49 - 23 

16 + 5 36 ÷ 2 30 + 5 10 × 7 Double 
18 * 48 - 12 * 76 - 26 10 × 7 99 - 54 17 + 18 

Double 
19  

1
2  of 24

  
1
3  of 30 90 ÷ 10  10 × 6  50 + 10 2 × 9 34 + 3 10 ÷ 5 12 + 11 

17 + 53  54 - 19  29 + 7 * Double 
30 120 ÷ 2 100 - 40 4 × 2 Double 5 12 × 4 7 × 5 

12 ÷ 2 100 - 30 11 × 2 5 × 1 88 - 28 34 + 26 10 × 7 16 + 5 36 ÷ 2 30 + 5 

8 ÷ 2 75 + 20 16 + 19 1
2  of 46

 
Double 

12 30 - 6 100 ÷ 10  65 - 20  35 + 24  1
2  of 80

8 × 2 10 × 4 2 × 2 6 × 4 8 × 10 50 - 26 1
2  of 42

 
70 + 12 5 × 11 ½ of 50 

10 × 8 6 × 2 1
2  of 48 2 × 6 9 × 5 58 - 34 Double 

16 9 - 5 13 + 12 12 × ? =  
60

(of your choice)

* Choice of skin tone will vary.
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Block Adventurer Mixed Calculation Maths Mosaic
Solve the calculations to reveal a hidden picture. Each answer has a special colour:

11, 12, 13, 14, 15  
= dark green 

16, 17, 18, 19, 20  
= grey

21, 22, 23, 24, 25  
= light green

 26, 27, 28, 29, 30  
= dark brown

 31, 32, 33, 34, 35, 36, 37, 38, 39, 40  
= light brown

All other answers = white

100 ÷ 10 Double 
40 

1
2  of 12

 
1
2  of 50

 
48 - 26 110 ÷ 10  100 - 50 90 ÷ 10 Double 

35 68 - 22 

12 × 7 7 × 7 44 ÷ 2 7 × 2 1
4  of 84 100 - 76  Double 

12  20 × 5 80 ÷ 8 120 ÷ 2 

6 × 10 19 × 3 1
2  of 44

 
50 - 26 4 × 6 60 ÷ 5 5 × 5 1

2  of 90
 

700 - 
650 26 + 19 

56 - 14 6 × 12 36 + 52 58 - 34 3 × 9 30 - 7  Double 
26 120 - 79 70 - 24 49 - 43 

11 × 5 88 ÷ 11 236 - 185 120 ÷ 3 Double 
14 90 - 88 144 ÷ 2 Double 

27 99 - 44 17 + 28 

12 × 5 9 × 5 99 ÷ 11 17 + 53 60 ÷ 2  250 ÷ 5 10 × 7 95 - 48 15 × 4 11 × 10 

12 × 2 1
4  of 60 66 ÷ 3 100 - 75 Double 

12 30 - 6 89 - 76 50 - 27  9 + 15  99 ÷ 9 

1
2  of 34

 
Double 8 11 + 5 290 - 273 12 + 6 190 ÷ 10  1

4  of 80
  

32 ÷ 2  100 - 84  65 - 49  

7 × 4 12 × 3 18 + 11 
1
10   

of 390
  

Double 
14  19 × 2 252 - 222  3 × 9 100 - 64  90 ÷ 3 

100 - 72  52 ÷ 2  60 - 33  1
2  of 64 99 - 72  ¼ of 120  1

2  of 60
  

3 × 11 45 - 15  13 × 2 
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Block Adventurer Mixed Calculation Maths Mosaic Answers
Solve the calculations to reveal a hidden picture. Each answer has a special colour:

11, 12, 13, 14, 15  
= dark green 

16, 17, 18, 19, 20  
= grey

21, 22, 23, 24, 25  
= light green

 26, 27, 28, 29, 30  
= dark brown

 31, 32, 33, 34, 35, 36, 37, 38, 39, 40  
= light brown

All other answers = white

100 ÷ 10 Double 
40 

1
2  of 12

 
1
2  of 50

 
48 - 26 110 ÷ 10  100 - 50 90 ÷ 10 Double 

35 68 - 22 

12 × 7 7 × 7 44 ÷ 2 7 × 2 1
4  of 84 100 - 76  Double 

12  20 × 5 80 ÷ 8 120 ÷ 2 

6 × 10 19 × 3 1
2  of 44

 
50 - 26 4 × 6 60 ÷ 5 5 × 5 1

2  of 90
 

700 - 
650 26 + 19 

56 - 14 6 × 12 36 + 52 58 - 34 3 × 9 30 - 7  Double 
26 120 - 79 70 - 24 49 - 43 

11 × 5 88 ÷ 11 236 - 185 120 ÷ 3 Double 
14 90 - 88 144 ÷ 2 Double 

27 99 - 44 17 + 28 

12 × 5 9 × 5 99 ÷ 11 17 + 53 60 ÷ 2  250 ÷ 5 10 × 7 95 - 48 15 × 4 11 × 10 

12 × 2 1
4  of 60 66 ÷ 3 100 - 75 Double 

12 30 - 6 89 - 76 50 - 27  9 + 15  99 ÷ 9 

1
2  of 34

 
Double 8 11 + 5 290 - 273 12 + 6 190 ÷ 10  1

4  of 80
  

32 ÷ 2  100 - 84  65 - 49  

7 × 4 12 × 3 18 + 11 
1
10   

of 390
  

Double 
14  19 × 2 252 - 222  3 × 9 100 - 64  90 ÷ 3 

100 - 72  52 ÷ 2  60 - 33  1
2  of 64 99 - 72  ¼ of 120  1

2  of 60
  

3 × 11 45 - 15  13 × 2 

visit twinkl.com



Block Adventurer Mixed Calculation Maths Mosaic
Solve the calculations to reveal a hidden picture. Each answer has a special colour:

0 - 10 = blue 11 - 30 = brown 31 - 40 =  41 - 50 = black

All other answers = white

10 × 10 110 ÷ 10 7 × 2 1
2  of 34

 
280 - 
263 60 ÷ 5 150 ÷ 

10 18 + 11 12 × 2 Double 
8 11 × 10 

99 - 47 74 - 62 15 × 10 77 + 163 3 × 9 1
2  of 64

 
48 - 26 824 ÷ 2 

1
2   

of 620

160 ÷ 
10  102 - 48 

9 × 10 291 - ? 
= 280 

1
2  of 50 11 × 2 5 × 3 176 - 

139 ¼ of 60 89 - 76 5 + 13 100 - 76 15 × 4 

723 - 
647 11 + 5 160 ÷ 4  

1
10   

of 390

200 - 
166  

320 - 
281  

Double 
16  

1
8   

of 320
39 ÷ 1 300 ÷ 

10 96 - 37 

1
2   

of 500
8 × 2 36 × 1 Double 

35 8 × 10 176 - 
139 180 ÷ 3 11 × 5 99 - ? = 

62 58 ÷ 2 Double 
54 

12 × 9 35 - 17
3
10   

of 110
 

12 × 5 ? + 68  
75 10 × 4 Double 

1.5 

1
2   

of 110
 

3.6 × 10  
1
5   

of 100
77 - 15 

1
4   

of 360
 

121 - 
102  100 - 62  102 - ? 

= 65
44.5 - 

10    5 × 7  24 + ?  
= 60

1
2   

of 75

1
3   

of 99
 

48 ÷ 4 Double 
69 

250 - 
148 

1
4  of 88 11 + ?  

50
¼ of 
200 

300 - 
258 150 ÷ 3 86 - 51  200 ÷ 5  13 × 3  42 ÷3 

1
10   

of 700

10 × 50 1
2  of 56 37 ÷ 1  ? ÷ 11  3 250 ÷ 5 ½ of 90  420 ÷ 

10 
250 - 
206  

243 - 
108  6 × 2 990 ÷10 

560 ÷ 7 2 × 11 
1
4   

of 140
  

53.6 - 
21.6  76 ÷ 2  3500 ÷ 

100  
560 + ?  

599

1
4   

of 140

390 ÷ 
10 91 - 75 10 × 7 

skin colour 
(of your choice)
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Block Adventurer Mixed Calculation Maths Mosaic Answers
Solve the calculations to reveal a hidden picture. Each answer has a special colour:

0 - 10 = blue 11 - 30 = brown 31 - 40 =  
 

41 - 50 = black

All other answers = white

10 × 10 110 ÷ 10 7 × 2 1
2  of 34

 
280 - 
263 60 ÷ 5 150 ÷ 

10 18 + 11 12 × 2 Double 
8 11 × 10 

99 - 47 74 - 62 15 × 10 77 + 163 3 × 9 1
2  of 64

 
48 - 26 824 ÷ 2 

1
2   

of 620

160 ÷ 
10  102 - 48 

9 × 10 291 - ? 
= 280 

1
2  of 50 11 × 2 5 × 3 176 - 

139 * ¼ of 60 89 - 76 5 + 13 100 - 76 15 × 4 

723 - 
647 11 + 5 160 ÷ 4*  

1
10  * 

of 390

200 - 
166 *

320 - 
281 * 

Double 
16 *

1
8  * 

of 320
39 ÷ 1 * 300 ÷ 

10 96 - 37 

1
2   

of 500
8 × 2 36 × 1 * Double 

35 8 × 10 176 - 
139 * 180 ÷ 3 11 × 5 99 - ? = 

62* 58 ÷ 2 Double 
54 

12 × 9 35 - 17
3
10  * 

of 110
 

12 × 5 ? + 68  
75 10 × 4 * Double 

1.5 

1
2   

of 110
 

3.6 × 
10 *

1
5   

of 100
77 - 15 

1
4   

of 360
 

121 - 
102  

100 - 
62*  

102 - ? 
= 65 *

44.5 - 
10 *   5 × 7 *  24 + ?  

= 60 *

1
2  * 

of 75

1
3  * 

of 99
 

48 ÷ 4 Double 
69 

250 - 
148 

1
4  of 88 11 + ? * 

50
¼ of 
200 

300 - 
258 150 ÷ 3 86 - 51*  200 ÷ 

5 *  13 × 3 * 42 ÷3 
1
10   

of 700

10 × 50 1
2  of 56 37 ÷ 1 * ? ÷ 11  3 250 ÷ 5 ½ of 90  420 ÷ 

10 
250 - 
206  

243 - 
108 * 6 × 2 990 ÷10 

560 ÷ 7 2 × 11 
1
4  * 

of 140
  

53.6 - 
21.6 * 76 ÷ 2 *  3500 ÷ 

100 * 
560 + ?  
599 *

1
4  * 

of 140

390 ÷ 
10 * 91 - 75 10 × 7 

skin colour 
(of your choice)

*

* Choice of skin tone will vary.
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